ASSIGNMENT CLASS XII DIFFERENTIATION

1. Find %for the following:
X

1 5x . COS X +Sin X
a) y= b) y= sin®(2x+3 C) y=—— =
@y o (b) y = +sin®(2x+3) (©y oS X—Sinx
1+c0s° X 1-sin2x
d lo e) y=log(x+~/1+ Xx* =
(d) y=log oo (e) y=log(x+41+x%) My Lo sin2x

2
2. Show that diB‘/az —x? Jra?sin‘1 (lﬂ =, Ja?—x%.
a

X

3.1f y= /1 , prove that (1—x ) y=0.
+

4. If y=(x+«/x2+a2)n, prove that %:%
X

5. Find %for the following:
X

(8) sin"(cos X)+cos *(sin x) (b) tan‘l(l__cos Xj (c) tan™ [Mj
sin x COS X +Sin X
(d) tan” 1+s!nx @) tan \/1+s!nx+\/1—s!n X
1-sin x JL+sinx —/1-sin x

6. Find %for the following:
X

(a) cos™(4x°~3x) (b) cot™ [ﬂj (©) tan_l( tr _1}
1+x X

(@) tan” Y1+ X2 = 1= X2 . 5x+12 1-x?
1+ X2 +41-x

70 J1-Xx* +4/1-y* =a(x-y), provethat dy Ty

X2

, prove that 2xj—y+y 2Jx.

8Ify\/_+\/_

9. If yy/x2+1 =Iog(\/x2 +1—x) , show that (x* +1)%+ xy+1=0.



10. If ylogx=x-Yy, prove that ﬂzLXZ.
dx  (1+log x)

_ dy Xx+y
11. If log(+/x* +y? |=tan 11, rove that ——="-2.
g( y ) X P dx x-y
sin™ x 2\ dy
12.If y= , prove that (1-x*)=Z=xy+1.
1-x? dx
13. If y=x"*+cosx™*, find Y 14.1F x*y° =(x+ y)(a+b), prove that Yy_y
dx dx x
3 2+3x 2 2
15. If f(x)= [ +Xj ,find f(0). 16. Differentiate tan‘l[ ij W.I.L. sin‘l{ ij.
1+x 1-x 1+x
. dy b
17. If x=asin2t(1+cos2t), y=bcos2t(1-cos2t), show that | —= =,
X att:% a
2
18. If x=a 1+t2 Y= 2 , show that — dy_ 1+t .
1-t 1-t? dx 2at
: : [ d%y
19. If x=2c0s@—co0s20 and y=2sin6—sin 260, find > .
dx 0=
. d’y
20. If y=Acosnx+ Bsinnx, prove that o +n°y=0.
X
X (e dy ,dy
21. If y=e"(sinx+cosx), prove that —-—2—=+2y=0.
dx? dx
2
22. If y=tan™ x, show that (1+x2)d Yoy W =0.
dx? dx
23. If yz[log(xh/x2 +1)}2 show that (1+x2)ﬂ Yo
’ dx>  dx
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